BAKXKYIM _REBREXR
H B |\ PNEEZ S A =Y a0l

3/16-17 69 [/NF > T A I 5t B[R (LY 7 b7 =277 7 e 1l R O Bl = — | A E AU (— A ) R (— % 5 22)
3/21 94 |4 S [} P S| Eag Ry 77 =2l e (L e A R 3 — N RS 4, v =7745-50+55-60+65 5 40709 - 755
4/21 93 | XK & W H XA K = FR R E%ﬁ " m o — R AT AR, 2, 3, 4, 5B

X K 7 7 TJHooU»n k= —h
5/3 60 |EEEBILFEHEY 7 b T = AR KPR 7~ = A G4 [ #R ik b 2 [ ik = — b
5/5 82 |&= ® Y 7 b7 = 2 KR &M F L F AR K EHF - LbbEORa—N — 51 HAm - AR
5/5 54 [V HARYZ M7 =2 H ¥ R RFRY 7N =@ [ ki & 77 2 R|50:60-65-70- 7505 1
5/12 61 AT AARY 7T = AR S(BRERY 7N =@l 1 & W /B = — M Bk - RES Lo =T B> =7 5728
7/5~9 74 (V8B R4 R FHERSE AR EE RS i M [ FRERHSML (F )  F T NA T NVA (T )
8 /25 52 |FE R AY 7T = AR R | RIGTRY 77 =2 [ Fn o [ i 8 E R IG| mB ke RAEBL-v=71-38B &> =75-THBT
10/5-6 65 |22 10 H A &K B K RRRRYIN=2AIF7|HE B/ M= — M —fRB - RAED =7 B (FT080m%)
9/1 72 | B VE Y TN T = R K S| g el i | kT B R m— R B RE B & =T 450 v =T550 1
10/19:20 | 35 |[MFEEMEA AR T7ETF=ARS(ZHEHRY 7 =2ER|G 2 W B = — M&F30mkLl b B 405800 E
12/11-12 [ 23 [BFBE XY 77T =2 KW B SEERYRER— ABRTE~BERIEEND S T Rig<T
20/1/4 63 |0 H A BB A F7 K IKRKARBY7 722777 (KRB H BTV — F|— B ER 1 =7450, F-2=7550L |k




